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I.  Analysis of story of 29 at 112 mayn in Yaa:
a.  Question: why didn’t 21 perform mar n%a1?
b.  Answerl: in front of 21 (only) was a stone floor, 1oR per v1
c.  Answer2: 21 would perform x”a), only that MoR per v1 (wouldn’t alter his anin to perform nrar nai)

1. Answer2b: as per dictum of 8™, an 21wn pR shouldn’t do 8”2 unless he’ll be answered (v2)
a.  Tangent: n'mp (v3) —on face; ny»13 (v4) — on knees; nRNnnwn (v5) — prostrate
i 7% injured self showing n7p to »27; Ram »ar would lean to side and put heads down

II.  Analysis of 5-6-7 nvYy hierarchy in nwn
a.  Note: follows one version of YRynw? 3; but ™ has 6 for naw and 7 for >"nv
b.  Significance: of 3-5-7 (regular, v" and nav)
c.  Significance: of 6 on 3"nv — per 6 on each side of Xy in v6
d.  Rule: all may read when 7 nv%y are called — but woman shouldn’t read due to m1ax¥n 12

1. Note: vandoesn’t count towards 7; only called due to nminn 7125 (shouldn’t ignore NN to
read from ’®>11) 2 minimum is 21 B4 corresponding to 7(n1Hy) x 3 (n'p10a)
2. challenge: we read mvan which are shorter (e.g. v7 — xR ammn for 1¥ 'a)

a.  answer: it is a complete literary unit
b.  answer2: if there is a 193N, 10 vv. are sufficient
II. 3 mwn: requirement of 10 men:
a.  Source: vv. 8-10 (applies to [b] only; rest are lack of propriety)
b.  Applications: 1709M N”"N7P , 01N NI ,Y"VY PV YNV YY PONI

1. Customs related to mourning: 2vIN TAYN, DYIR MMM DYIR NII1 (D°9aR don’t count towards 10)
2. i 1292 with 10, using God’s Name
3. w7 NNy Assessing redemption of lands from w1pn (9 9% and 1 1n2)

a.  Source: "jn3” appears 10 times in nw19; 9 are VY1 (should be 5/5, as VIYN IR VIYIP="1277)
4. 7R nony Assessing value of person for donations to wTpn (same as above)

IV. 7 mwn: interaction between XMp and jn310n
a.  No fewer than: 3 »pos; shouldn’t “feed” 193710 more than 1 at a time
N211"feed” 1031100 3 at a time, unless each is a separate nw1a (e.g. v12)
Permitted: to skip only in X221 — no longer than it takes the jn31nn to render previous verse
May skip: in nn within 1 theme (e.g. vv. 13-14 as per n”n1p of 3”03 on 3"nv)
However: may not skip from &’21 to ®23, except in 7wy 02w, but only forward (e.g. yv1n->nan)
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